=Ry

= -(<2§

fhze (R01)

[=
1.5 B e
T4 | R1fL 5 EIREsR b - R BmLE (2) FEX TH TR - R
THEXSy JH O B
TEHEXSy - TFE - &R - Hl5) Hiks =<¥iva e (gD Y (AR Tk i 22
JE O B
= 1
Em T
= 1
o — 7R
2TX 45— RT
=, 1
R
= 1
FHETEE T
m2 12
DAYn=7" 3E Y
37 126
m 74
T HbER T N-F%1E 25A
114. 3 ¢ *4. 5-1630
4PL~4. 5t*%200%400 N 12
AR b
50%95
&l 4
LY NN S
2%2-0. 5%1271
m2 12
o — 7RI
2TX bH5r—7RT
= 1
BB
= 1

=N

pi




=] N2z E[ \//\
L;&i}ﬁi,\ﬁ 01
T4 | R1fL 5 EIREsR b - R BmLE (2) FEX TH TR - R
TEXS JH O B
TEHEXSy - TFE - &R - Hl5) Hiks =<¥iva e (gD Y (AR Tk i 22
FHE P T
m2 316
JAYn=7" 3E Y
37 12 ¢
m 1, 451
EHRT-FRE A
D22 (M20) *1000
7N 3
EAT/-RE B
D22 (M20) *1000
ZIN 80
EHRT-FRE A
D22 (M20) 1500
ZIN 40
RO AT AR E 25A
114. 3 ¢ *4. 5-1630
4P1~4. 5£%200%400 K 21
- HbER T N-F%1E 258
114. 3 ¢ *4. 5-1630
4PL~4. 5t*%200%400 N 7
=197 -
+500 97" Bkt
50%95 & 101
LY NN S
2%2-0. 5%1271
m2 316
o — 7RI
2TX 8F5um—7{RT
= 1
BB
= 1

=N

pi




=Ry

= g/0

fhze (R01)

[=
1.5 B e
T4 | R1fL 5 EIREsR b - R BmLE (2) FEX TH TR - R
TEXS JH O B
TRy - TFE - FER - M5 JRA% =<¥iva e (gD HE (5E) B R i 22

FHE P T

m2 80
JAYn=7" 3E Y
3%7 12 ¢

m 377.5
EHRT-FRE A
D22 (M20) *1000

7N 9
SEHT-RE B
D22 (M20) *1000

ZIN 17
EHRT-FRE A
D22 (M20) 1500

ZIN 15
=197 -
AR b
50%95 1 24
BUG N/ N
2%2-0. 5%1271

m2 80

RE% T
= 1
Bz 1.

=, 1
KRR B Ak No. 8
H=2. Om

m 12
IRER BH T A4 k2 No. 9
H=2. Om

m 9

=N

m




1.5

=Ry

H./\
;Ei/fi

fhze (R01)

T4 | R1fL 5 EIREsR b - R BmLE (2) FEX TH TR - R
THEXSy JH O B
TEHEXSy - TFE - &R - Hl5) Hiks =<¥iva e (gD Y (AR Tk i 22
IERBHHEME A4 R No. 10
H=2. Om
m 17
IR B 1
H=2. Om
m 38
E) V=l 140m. 3. 8t
L=200mPL T
= 1
RIBEE T
= 1
AIBFTHEEAE
A H 14
[ERARE X
= 1
IR
= 1
HamiReeE (FE L)
= 1
b T
= 1
BUGE B
= 1
T =5
= 1

=N

m




1.5

Ry ==y

=._/\
1\
1= S DN

fhze (R01)

TH4 | R 1S 85 EIER L - R EELF (2) HEX Sy TERHTRR -
THEXsy 1 o R
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e

— A P

= 1
TS

= 1
THEBIRE K Ol 5 1 e B

= 1
TR

= 1

=N

pi




